
Part Number/Price 
Item # Part # Description Price
1 146593 Screw, pan head, 4-40 × 3/16, stainless steel Consult
2 149340 Gasket, front Consult
3 144709 Cap, 25, 50 and 100 K capacities Consult
3 144710 Cap, 1,2,5 and 10 K capacities Consult
4 144788 Spring, 25, 50 and 100 K Consult
4 144769 Spring, 1, 2, 5 and 10 K Consult
5 42741 Battery "D" cell alkaline Consult
5 74619 Battery, "C" cell alkaline Consult
6 193141 Screw, flat head, 4-40 × 1/2, Phillips, stainless steel Consult
7 149381 Panel, back Consult
8 139155 Load cell assembly, 1,000 lb Consult
8 139156 Load cell assembly, 2,500 lb Consult
8 139157 Load cell assembly, 5,000 lb Consult
8 139158 Load cell assembly, 10,000 lb Consult
8 139159 Load cell assembly, 25,000 lb Consult
8 139160 Load cell assembly, 50,000 lb Consult
8 139161 Load cell assembly, 100,000 lb Consult
9 144789 Spacer, 1.062, 4-40, stainless steel Consult
9 144790 Spacer, 1.312, 4-40, stainless steel Consult
9 144791 Spacer, 1.812, 4-40, stainless steel Consult
9 144792 Spacer, 2.562, 4-40, stainless steel Consult
9 144758 Spacer, 2.00, 4-40, stainless steel Consult
10 148022 Label, capacity, 1,000 lb Consult
10 148029 Label, capacity, 2,500 lb Consult
10 148024 Label, capacity, 5,000 lb Consult
10 148025 Label, capacity, 10,000 lb Consult
10 148026 Label, capacity, 25,000 lb Consult
10 148027 Label, capacity, 50,000 lb Consult
10 134160 Label, capacity, 100,000 lb Consult
11 153431 PCA, Scalecore assembly Consult
12 149290 PCA, display assembly Consult
13 144536 Screw, pan head, 4-40 × 1/4, Phillips, stainless steel Consult
16 149295 LCD Consult
17 149338 Bezel, assembly Consult
18 144991 Gasket Consult
19 149460 Bracket, LCD Consult
20 146542 Nut, hex 4-40, stainless steel Consult
21 139407 Ground wire Consult
22 225162 Panel, front, label Consult

MSI-7300 Dyna-Link
Standard Assembly 

170 www.ricelake.com    |   Phone: 800-472-6703 
An ISO 9001:2015 Accredited Company   © 2025 Rice Lake Weighing Systems   1/25   Prices and specifications subject to change without notice. Visit ricelake.com for current prices.

REPLACEM
ENT PARTS



MSI-7300 Dyna-Link 
Standard Assembly 

Technical specifi cations subject to change without notice.
Prices suggested list F.O.B. MSI plant, Seattle, WA are subject to change without notice.

Measurement Systems International
Replacement Parts Price List - Effective November 2011

ecirP tsiL  noitpircseD rebmuN traP rebmuN metI 

PAGE 5

22

16 17

18 19

20

21

13

12
11

6

5
7

2

4
3

2
1

8

9

10

171www.ricelake.com    |   Phone: 800-472-6703 
An ISO 9001:2015 Accredited Company   © 2025 Rice Lake Weighing Systems   1/25   Prices and specifications subject to change without notice. Visit ricelake.com for current prices.

RE
PL

AC
EM

EN
T P

AR
TS


